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No. of Questions/J&=l & &A1 :.100
No. of Pages for Questions/SeAl & Y&I € &&Am : 23

Time : 21 Hours ] { Full Marks : 300
g9y : 21 w2 [ goifa : 300
Note: (1) This question booklet contains 100 (hundred) questions in all

)

(30 in Section — A and 70 in Section - B). Attempt as many questions
as you can. Each question carries 3 marks. One mark will be
deducted for each incorrect answer.

Zero mark will be awarded for each unattempted question.

39 ue Rt 3 gel 100 () v ¥ (@vs — & % 30 9 @vs — 9 ¥ 70) |
ARPRIS Tel B g H BT YT X | TIP T 3 3P B 2| FAB
ToAd GO & Y U@ SiF PIeT FrEar! G ATAR W BT YTid
g |

If more than one alternative answer seemn to be approximate to the

correct answer, choose the closest one.

2 vHDF JFfrs IR U R @ Fee & 97 Feeay wd I <)



MSEB/102/19 (Set ~ I)
SECTION - A

s -

1. Before teaching, teacher performs :

(1) Identification of objectives (2) Preparation of Lesson Plan
(3) Knowledge of interests of students (4) All of the above

Reror & gd sravE wRaT 2

(1) <eat & ygem (2) gro-araTe @1 o

(3) oMl B IRA_T B FTEER (4) swiw i

2. The idea of Basic Education is of :

(1) Mahatma Gandhi (2) Zakir Husain
(3} Jawahar Lal Nehru (4) Maulana Azad
Rre Ren &1 e &

(1) HgrT TR @7 (2) nfaR gdw @t
(3) TARR A E® Bl (4) e TG BT

3. Which of the following Education System is prevailing in our country ?
AR o9 A 7§ - Ren-yone wafer g ?
(1) 10+2+2 2) 8+4+3 (3) 10+2+3 (4) 11+1+3

4, 'Operation Black Board' is related with which stage of education ?

(1) Primary Education (2) Secondary Education
(3) Aduit Education (4) Higher Education
R < e R A P sawer ¥ wEtRm 2 °?

(1) v fRrm A (2) "t fPem o

(3) We e A (4) v=g fIer Q@

3. The efficiency of a Principal most often depends on :
(1) Good relationship with the children
(2) Good (cardinal) relationship with the teachers
(3) Good relationship with the parents
(4) Good (cardinal) human relationship

(2)
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MSEB/102/19 (Set - I)
TP YETHTAT] B GRIedl 9gd §B R Bl 8
(1) areiel & W e |  9IY X W
(2) IATUDI T TTY AW Y gAY G O
(3) IfraEl P e Y W SN W W
(4) I AT T g7 TEH W

In which country "Kindergarten Schools’ were first opencd ?

(1} Germany (2) England (3) ltaly (4) France
frvsds o waw vgd fw qw A @ g A ?

(1) (2) gITs (3) geoh (4) Wi
Which is the best method of teaching at Primary level ?

(1) Play-way method

(2) Self-learning

(3) Learning by doing

(4) Traditional black board and chalk method

T WX 9% R @1 wey 9wsT aF &1 8 7

(1) == faf

(2) g g

(3) wRD ARG

(4) RERTTE wHUee SR e fafer

'National Council for Teacher Education’ (NCTE) was established in the year :
]I s Rrem uReg’ (T o o go) &Y W b g¥ gg o ?

(1) 1986 (2) 1992 (3) 1973 (4) 2000
Three R’s do not include :

(1) Reading (2) Writing (3) Arithmetic (4) Recreation
= st (3R's) ¥ smafifea 78 ¢ :

(1) 9en (2) fera= (3) siwoO™ (4) WIS
Fourth international conference of "UNESCQO' on Adult Education was held in:

g e R gAEny B agy SRS R AR g3 o
(1) 1948 (2) 1965 (3) 1985 4) 1975

(3) P.TO.
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1.

12.

13.

14.

15.

16.

If the day before yesterday was saturday. What day will fall on the day after
tomorrow ?

(1) Tuesday (2) Wednesday (3) Thursday (4) Friday
IR F | 98 # T ufiar on, @ @ @ 918 @ 7 8 ?

(1) ATAIR (2) goaR () TeaR (4) IR
India : Rupee : : Bangladesh : ?

(1) Taka (2) Frenk (3) Leera (4) Gilder
WIRE : TUAT : 1 §IENQ ¢ 7

(1) T@H (2) W& (3) =T @) firesz

Pointing to a man in photograph, a woman said, "His brother's father is the only
son of my grandfather." How is the woman related to the man in the
photograph ?

(1) Mother (2) Aunt (3) Sister (4) Daughter

U o &) oiR Gai e_d 8Y o AfRel A @81, 39 Yy & 98 F e W g

SN &1 gHAT gF B 1S9 ARl & O B gV | Fu we ¥ 7
(1) #f ) = (3) T&T @ T

Rajan is the son of Kumar, Sheela is the daughter of Rajani. Kurmnar is Father-in-
law of Rajani. What is relation of Rajan with Sheela ?

(1) Brother (2) Dewar (3) Father (4) Son

RIS HAR BT I 8, Ao A &) O 8| FAR, I99) & W[ER &1 IS F A
¥ T R & 7

(1) € @ (2) TR F (3) foar =1 @) 9 &

If, it was Monday on January 1st, 2005, what day will be on December 24, 20057
(1) Monday (2) Tuesday (3) Wednesday (4) Thursday

IfT 1 FHaR, 2005 @) QAR o @ 24 feamR, 2005 @ dE-ar &9 gnr ?
(1) IR (2) HTEaR (3) TR OKERIGEL

Which of the following day will not be the last day of century ?
(1) Sunday (2) Saturday (3) Monday (4) Wednesday

(4)
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18.

19.

21,

MSEB/102/19 (Set - )
i & @ eF-9r 9 waed o aifeag fe w18 g ?

(1) REr (2) wfER (3) WHaR (4) TIER
Myopia is related with Eye, Meningitis is related with which organ ?
(1) Brain (2) Alimentary Canal

(3) Kidney (4) Lungs

AT BT e o @ & A Aok o gee e 8 7

(1) =R (2)  SERE

(3) T @ e
27:16::125:?

(1) 36 (2) 114 (3) 136 (4) 216

If meaning of '+ is 'x’, meaning of '-' is '+, meaning of 'x' is =" and meaning of
'+’ is '+', then what will be the valueof : 9+ 8 +8 -4 x9.

oy ek, At e, BT A AR w e B, WMI+8+8 ~4x9
&1 719 a1 B P

(1) 11 (2) 17 3) 2 (4) 65

In a line the serial of Sohan is fifth from both the sides, then how many total
persons are there in the line ?

% Uf¥ § Bed & wEie aAr AR A diedt ], O 9§ o B afw § 0
(1) 6 (2) 7 3) 8 4) 9

The recently proposed NCHER stands for the following :
(1) National Cultural and Higher Education Report
(2) National Committee of Higher Educational Recommendation

(3) National Commission on Higher Education and Research

(4) National Commission of Higher Education and Recreation

(5) P.T.O.
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22,

23.

24.

25.

e B ¥ ynfad ¢to o THo $o 3Ro T "™ ey 2

(1) T Feara IR 9w e Rard
(2) “EFa ARy Sea e <

(3) A w9 R ol e
(4) AT T ST R iR AR

What is the approximate % (Percentage) of enrollment in higher education in
India at present ?

a 11 @ 12 3) 13 4) 14
aaq § YR H 957 3ren § 9Hies we fhas ufllwa g ?
1) 1 @ 12 3) 13 (4) 14

The ‘Sarva Shiksha Abhiyan'aims for the given :
(1) Universalization of Primary Education

(2) Universalization of Secondary Education
(3) Universalization of Pre-Primary Education
(4) Universalization of Girl Child Education

Ta e s &1 Stey €
(1) wrfda Brm o1 |EHaEHeT (2) wreafye R &1 ardbHeRT
(3) -t R o1 o (4) SiformT e &1 AEHHEE

The Planning Commission proposes to achieve target of ................ Gross
Enrollment Ratio by 2012 in India.

1) 12% (2) 13% (3} 14% 4) 15%

AISTAT AR & FFAR 2012 TF AR .ovveveennennn FHol TAIHNUT FUTT DI UT aR
AP

1 12% (2) 13% (3) 14% (4) 15%

The latest National Curriculum frame work was proposed in which year ?
(1) 2005 (2) 2006 (3) 2007 (4) 2008
TR I are e 6 9¥ # wwfae & T o ?

(1) 2005 (2) 2006 (3) 2007 (4) 2008

(6)
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28.

29,

30.

MSEB/102/19 (Set - )

Who is the Human Resource minister of India at present ?

(1) Mr. P. Chidambaram (2) Dr. Murli Manohar Joshi
(3) Mr. Kapil Sibal (4) Dr. Manmohan Singh
Fdum ¥ IRa @1 AT JeE 7S B 8 2

(1) it flo ARy (2) Sfo ¥Rel ey Sl
(3) N wfiw Rre 4) Sho 7AET T

Which two great educationist of India celebrate their 150 year of birth in 2011 ?
(1) Rabindranath Tagore and Pandit Madan Mohan Malviya

(2) Rabindranath Tagore and Mohan Das Karam Chand Gandhi

(3) Pandit Madan Mohan Malviya and Mohan Das Karam Chand Gandhi

(4) Pandit Madan Mohan Malviya and Swami Vivekanand

o Y we Renficl @ o= & 150 |diet WRa 2011 # 71 <=1 8 ?
(1) &= 9 20R 3R Yo Ag-T WEF Ay

(2) JEFe TR IR SR AT §RY HRATS RN

(3) Ho HEA HIEA AT 3R HEH T FIHA< T

(4) do WEd ARH AENY R WH A9wm=<

The 2011 Cencus show that adult literacy rate in India has risen to ................ .

(1) 74% (2) 65% (3) 85% (4) 78%

2011 Y SIEIUET & IR HRT B HIe GERAT TR 98 BR ..o B T 8 |
(1) 74% (2) 65% (3) 85% 4) 78%
Education according to Indain constitution is the subject of which list ?

(1) Union List (2) State List

(3) Concurrent List (4) Provincial List

TRA HWiRayE & srger Ren Rvg e gl famar 2 ?

(1) == A (2) x5a o

(3) wwad ¥ (4) forem <

When did Right to Education Act approved by Parliament came into force ?
(1) March, 2010  (2) April, 2010 (3) March, 2011  (4) April, 2011
THE gRT 9IRG Refr 7 JfeR w9 | @r] 83 7

(1) =g, 2010 (2) s, 2010 (3) =, 2011 (4) 3, 2011

(7) P.T.O.
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31.

32.

33.

SECTION-B

Hus —d

Which of the following does not belong to Phylum Coelenterata ?

(1) Seapen (2) Sea feather
(3) Sea cucumber (4) Sea fan
1 7 9 o oeyer 99 § gfea T § ?

(1) & o (2) « PR

(3) & g (4) & B

Biological magnification refers to :

(1) Concentration of insecticide(s) in animals

(2) Concentration of organophosphate in plants

(3) Photography in the laboratory

{4) Increase in number of animals and plants in ecosystems
"afds deeh smaes Soer #var R ¢

(1) SHERT | PieATedi &1 Aol

(2) 9l ¥ Aaeiawe B A=

(3) TN H BRI

(4) soRReg § ol 3R SR @Y wer § gfE

Wings of insects and wings of birds are the examples of :

(1) Analogy (2) Homology (3) Serology (4) Mimicry

FHIE $ UG qAT U P v A P SamRT € -

(1) TR (2) BMYERT (3) AR (4) fafafs

(8)
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35.

36.
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The Blood group of man was discovered by :

(1) Mendel (2) Stanley Miller
(3) Francis Galeton (4) Land Steiner
Hsg B BER 9l I A e @y ?

(1) "= ) e faer
(3) Wi e 4) FresIR

Which one of the following is the function of glucagon hormone ?

(1) Increases uptake of glucose and amino-acids by cells

(2) Stimulates glycogenolysis and release of glucose from liver cells

(3) Decreases blood glucose level

(4) Increases glycogenesis

fefofRad & 9 S-a1 st @ 8 @ & 2

(1) R R 7@ T AT Al BT AT G517

(2) TERBAAETSRN B SORT BT T THa BIRERT W Terer e B
(3) BRER T WR BT I

(4) TAEPIRTRRT B &

Which one of the following hormones of the Pituitary gland is a direct acting
hormone that is without interaction of other hormone ?

(1) TSH (2) ACTH (3) LH (4)MSH

frafaRen & | s-a1 9y 9f &1 S ve gwea, |fby @ 2, o il e
MM B IRARE i & 1 o aar 2

(1) Sot=oTae  (2) YodoloTdo  (3) YeoyHo (4) THoYHoYHo
(9) P.T.O.
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37.

38.

39.

40.

The action potential in a mammalian nerve fiber is generated by :

(1) Na'ions (2) K" ions

(3) CI"ions (4) Ca™" ions
WG A 7 g1 amar f @ &R Se skt
(1) Na* 3w (2) K*amq

(3) CI" a7+ (4) Ca*™*amaA

The most common larval forms met within crustacea are known as -

(1) Miracidium larva (2) Nauplius larva

(3) Bipinnaria larva (4) Trochophore larva
R ¥ weq wawy o o arelt e arawen & e @er S 2
(1) ferdifeaw v (2) sifuferaa &

@) IR s @) PR e
Which of the following belongs to phylum Arthropoda ?

(1) Gold fish (2) Star fish

(3) Silver fish (4) Cuttle fish

e & | #Y amefdrer w9 § swr 8 ?

(1) Tes fowr Q) 'R

(3) RreR fbm (4) e fom

Hamburger's phenomenon is also called :

(1) HCO;, shift (2) Chloride shift
(3) Hydrogen shift (4) Sodium pump
R T2 @ e o ®Er o }

(1) HCO; Rme (2) FNTSS Rme

(3) wggIeA Rige (4) \fegm T

(10)
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42.

43.

MSEB/102/19 (Set - I)

The lipid bilayer of many cell membranes is not composed of phospholipids
exclusively, it often contains :

(1) Cholesterol and Glycolipids
(2) Cholesterol and Glycoproteins
(3) Cholesterol and Mucopolysaccharides

(4) Cholesterol and Glycogen

ﬁmmaﬁ%ﬁsmmmﬁeﬁﬁﬁm,wﬁw

(1) PRSI g7 TARHITATISH
(2) BRRIIS TAT TARDI

(3) PARIIA TN I UARDIZSH
(4) PRSI TAT TAZDIOA

Which one of the following scientist pair had proposed fluid mosaic model of
plasma membrane ?

(1) Gorter and Grendel (2) Singer and Nicolson

(3) Cereijido and Rotunno (4) Sleig and Jennings

frferfm & 9 frw dsnegy ¥ Sasa T & gge G0 Ty R fdar o ?
(1) MR <o fsa (2) RIFR T Rereas

(3) frdfey T A= (4) =g e AfFE

Nematocysts are found in :

(1) Porifera (2) Coelentarata (3) Nematodes (4) Annelida
iR A= # a8 ot 2
(1) 9wy (2) Herered (3) fricss (4) TfersT

(11) P.T.0.
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44. In which one of the following groups all animals are hermaphrodite ?

45.

46.

47.

(1) Hydra, Ascaris, Pheretima (2) Hydra, Homo sapiens, Leech
(3) Tapeworm, Toad, Starfish (4) Hydra, Leech, Tapeworm
=1 % 9 fow e -aE & 9 ol gwafe=h € 7

(1) 3%l yeaig, HRIcAT (2) TSR BT WA, A
(3) cugd, <8, wrikw 4) =ggl o=, cuad

Which one of the following Scientist has written his Classical essay "lake as
microcosm” ?

(1) Karl Mobius (2) S. A. Forbus

(3) A.G.Tensley (4) E.P. Odum

frffe 9 | f&w dafe § v Rivead ey e & wrgsprorer forar ean ?
(1) ®ret ATy (2) o To HIfSy

(3) To Sito = (4) go Mo 3reA

The mineral element whose deficiency in human food may lead to goitre is :
(1) Calcium (2) Iodine

(3) Fluorine (4) Sodium

Wt aea R w0 & AT 3 warge € 2, a8 @

(1) Hfceerz (2) STEREH

(3) el (4) wreTm

In mammals, the urea is produced in :

(1) Liver (2) Kidney

(3) Spleen (4) Intestine

wrenREl # gRar fad amar & °?

(1) apa 2) 7%

(3) wileT (¥gef) @) sifa
(12)
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49.

50.

51.
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Name the family to which apple belongs :

(1) Ranunculaceae (2) Papaveraceae
(3) Rosaceae (4) Euphorbiaceae
WD U D HA BT I A ¢

(1) TTFgeren (2) gaR

(3) o (4) FwIfaR

The pollen grain with air bladder is found in :

(1) Pinus (2) Cycas

(3) Ephedra (4) Gnetum

UG WIS § I3 T T 2

(1) gre™ 2) wEed

(3) Ts (4) *rew

Which one of the following causes powdery mildew of pea ?
(1) Puccinia (2) Phytopthora

(3) Rhizopus (4) Erysiphe

Te= B oY ¥ gffer s G feas BT B & 7

(1) ga=ifar (2) wrECiwIRT

(3) wEITE (4) D!
Which one of the following is the main carbon reserve in bacteria ?
(1) Poly-B-hydroxybutyrate (2) Starch

(3) Sucrose | (4) Lignin
ffofRaa # | &9 S&8Rar &1 v R = 8 ?

(1) dref-der- e RheTse @ w=H

@) g (@) ffrt

(13) P.T.0,
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52, The nucleic acid of T types of bacteriophage is :

(1) Linear single stranded RNA (2) Circular double stranded DNA
(3) Circular RNA (4) Linear double stranded DNA
A weR @ JFARAES ¥ Yds e S 2
(1) TEPR THgA HRoTFoTo (2) FETER R Sovoto
(3) TIPR ARoTHoTo (4) YaeR g Sorsogo
53. Phycobiliproteins are found in :
(1) Blue-green algae (2) Brown algae
(3) Green algae (4) Yellow-green algae
wgHRfMET 377 urdt o 2
(1) ¥o-er dara (2) R Harer §
(3) & darer # 4 M- e H
54. Blue-green algae are found in the thallus of :
(1) Funaria (2) Pelhia
(3) Anthoceros (4) Marchantia
Fre-eRa dare T daw § R 9§
(1) wgRar (2) dfs
(3) e (4) R

§5. The principal form of carbohydrate that is translocated from leaf to non-
photosynthetic parts of the plant is :

(1} Glucose (2) Fructose

(3) Starch (4) Sucrose

T[T PEIBESC A B R F U D AUFHRHTS 9T B A ¢
(1) To[@I @) e

@) wrd (4) it

(14)
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56. Which group of algae is mostly found in seawater ?

(1) Phaeophyceae (2) Chlorophyceae
(3) Euglenophyceae (4) Charophyceae
FH-9 AT T s A U IR 8 ?

(1) fsfmreer 2) FARBIEER

(3) FrerBIE (4) BRIoprg=

57. Which growth hormone increases the tolerance of plants to diverse
environmental stresses ?

(1) Auxin (2) Gibberellin
(3) Cytokinin (4) Abscisic acid
DIF-HT A B delf § aramareia wfwet o w8 @ &wer g 8 7
(1) snfe (2) fomier
(3) wEEERE (4) wewghie RS
58. Binomial nomenclature was introduced by :
(1) Charles Darwin (2) Aristotle
(3) Carolus Linnaeus (4) Bentham and Hooker
fgre-m-ugfy s we9 vsa R
(1) =t sifd (2) TREEA EREY
(3) IAew D (4) =M G §IR
59. The enzyme that converts nitrate to nitrite is known as :
(1) Nitrate reductase (2) Nitrite reductase
(3) Glutamine synthetase (4) Glutamate dehydrogenase
T B AZERC H g8 Il Groligd &f A €
(1) TEge Rewew (2) wegTEe Rewew
(3) oA Ryrerew (4) Tere Rerggioma

(15) P.T.O.
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60. Archegonia are not found in :

61.

62.

63.

(1) Bryophyta (2) Pteridophyta

(3) Gymnosperms (4) Angiosperms
gt g 78 arg Wkl § -

(1) smareTEer (2) R

(3) foreread (4) cfases
Chlorophyll can absorb :

(1) Green light (2) Red light

(3) Bluelight (4) Bothred and blue light
yoieRe W & ¢

(1) &1 Harer (2) S WRTI

(3) e g (4) weT @ Hell yepre

Who for the first time showed that DNA is the genetic material ?

(1) Watson and Crick (2) Avery, McLeod and McCarty
(3) Hershey and Gibbs (4) Okazaki

SloudoTo ITARTH Uert & u8 &y uygel fdwe gofgr ?

(1) aEw+ va fbe (2) TaR, HfFeRTs vd Aqwme!

(3) &9 vd firsq (4) aNwTATR

Capitulum inflorescence is found in the family :

(1) Solanaceae (2) Asteraceae
(3) Malvaceae (4) Rubiaceae
UG P 59 Fol H URIT O ©

(1) wnerred (2) T

(3) A (4) wfage

(16)
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65.
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Which one of the following undergoes biomagnification in the food chain ?

(1) Lead (2) DDT (3) Malathion 4 2,4-D
st Afds arel= ameR Yoo § gar 2 ?
(1) =< (2) SroBiolo (3) “fRm 4) 2,430

Deficiency of Riboflavin is called :

(1) Iriboflavinosis (2) Dermititis
(3) Anemia (4) Beri-beri
IFEAfGT B P BT 8

(1) snzRavafaife (2) sferfen
(3) wifaar (4) 09

Diabetes is caused by the deficiency of :

(1) Fats (2) Insulin (3) Carbohydrates (4) Iron
S frwat Hd | & aren W B ?

(1) @ (2) Tfer (3) FrEiEERE (4) s
Which Instrument is used to know the adulteration in milk ?

(1) Premeter (2) Meter (3) Altimeter (4) Lactometer
2 ¥ fage s w9 2 e I3 &1y wa § ?

(1) dfrex (2) WX (3) TR (4) dgenirer

Which is a single cellular bacteria ?

(1) Mould (2) Yeast (3) Bacteria 4) Algae
TF HIEH S 2
(1) v9%g (2) dre (3) IFRT (4) T

(17) P.T.O.
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69.

70.

71.

72,

73.

Which bacteria causes disease ?

(1) Symbietic {2) Parasitic {3) Saprophytic
T IO A qTe SR B E

(1) wEshd (2) TNt (3) A
Deficiency of Vitamin 'E' causes ;

(1) Sterility (2) Rickets (3) Marasmus
faerfe § & o0 § g R

(1) ¥ (2) Rebew (3) e

Part of the plant which contains seed is called :

(1) Fruit (2) Plump (3) Root
Rl Y B frorger AT B FE E

(1) @) = (3) v1s
Conjugated protein is called :

(1) Glycoprotein {2) Peptone
(3) Albuminus (4) Maltose
Har S e B e &

(1) AFHHEH 2) U<
(3) v (4) AT
Requirement of protein is less in :

(1) Old Aged persons (2) Children
(3} Youngsters {4) Patients
WEN B JAGEFAT BH B T €

(1) g =fear & (2) s=ar &
(3) faeirasen J (4) = ¥

(18)

{4} Autotrophic

(1) arToIgTEY

(1) Demensia

(4) feafrmn

(1) Trunk

(dyaT



74.

75.

76.

77.

MSEB/102/19 (Set ~ I}

Which is not a vegetable fibre ?

(1) Silk (2) Linen
(3) Cotton (4) Jute

Fr ¥ @ B ARy aeg TETE 2

(1) =™ (2) fore
(3) P () 5

Permanent hardness of water is removed :

(1) by boiling (2) by Clark's process

(3) by Calgon process (4) by adding caustic soda
T B W HIRAT B ¥ A S 2

(1) SareFR Q) = Ay 9

(3) derra Iy & () FR<H arer e

Pulse-polio programme targets children of the age group between :

(1) 1-5years (2) 5-10years

(3) 9-12years (4) 3-15years
eR-aRrY wrmY e T @ Te g T Y aen oEwd § ?
(1) 1-53% (2) 5-10a9

(3) 9-12ad (4) 3-159%

In which condition BM.R. is reduced ?

(1} In fever (2) In winter climate
(3) In fast (4) In exercise

e Raft § RorHosRe T & WraT 2 ?

(1) == @ Ry % (2) <& SeEg |
(3) 99 T &R A (4) =™ & Refy |

(19) P.T.O.
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78. Which nutrient is most needed in neonatals ?

(1) Protein (2) Carbohydrate

(3) Fats (4) Vitamins

Fauira Rgell # 5w dive aw@ 61 Fed SAreT I@egsdr gl @ 7
(1) M= () BrteEse

(3) e @) fef=

79. Low fibre dietis givenin:

(1) Obesity (2) Diarrhoea

(3) Mal.nutrition (4) Vomiting

FHW gaa er Ay s 2

(1) e § (2) RreR A

(3) Jowor H (4) T7 o1 Rarfor #
80. Deficiency of Vitamin 'C' causes :

(1) Beri-beri (2) Diarrhoea

(3) Scurvy (4) Night blindness

e < & TH @ Dar ?

(1) a8 2) iR

(3) vl (4) =R
81. Vitamin'A'is stored in :

(1) Lever (2) Intestine

(3) Blood (4) Muscles

Rt ¢ wfaa Sar 2

(1) =pa | (2) era A

(3) <& # (4) ArauRral A

(20)



82.

83.

84.

8s.

86.

87.

MSEB/102/19 (Set - 1)

Which is not a right of consumer ?

(1) Right to choose (2) Right to be heard

(3) Right of Information (4) Right to fare price

forey & § S9-ar SwEn o1 sfter FE E

(1) 7T & AR ) g 1 SR

(3) 9w & o @1 sReR (4) @ fuRe 71 FRER
Which of the following species is diamagnetic ?

Frias o gedm a2 ?

1) O, (2 O, @ Oy 40,

The molecule which has pyramidal shape is :
T 3] forasT emer i 2, 9 2

(1) SO, Q) PCl 3) CO& 4) NO;y

Which of the following orbitals has highest energy ?
1 SyemEt § 9 fPaet St affwaH 8 7
(1) 3p (2) 4s 3) 4p (4) 3d

Which of the following solutions has lowest freezing point ?

fore gt § & fraer fRmie waf= & °
(1) 0.1 M-NaCl (2) 0.1 M-BaCl,
(3) 0.1 M-AICl, (4) 0.1 M-urea

Which of the following compound in aqueous solution will have the same

osmotic pressure as that of K4 {Fe(CN)g] ?

Ffe % A fog e & oela Rews &1 WRRRM I@ K, [Fe(CN)g] & a9

BN 7
(1) AL (SO (2) AlCl, (3) Al(NOs); (4) AlBry
{21)
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89.

91.

92.

Which of the following process is endothermic ?

= A 9 P9 vH S et 2 7
(1) C(s) + 02(3) —> COZ(g) (2) Nﬂ(g) —> Nﬂ+{g) +é
@) Chy+e > Cl 4) Hy g+ %oz(g, — H,0y

Which of the following relations is not correct ?
ot T @ P w TR Y
(1) ASgy+AS,,20 (2 AU=g+w

(3) AH =AU + PAV (4) AG =AH + TAS

The cell reaction, Cu, + 2Ag"(,y — Cu**, » +2Ag(), canbe shownaas :

EX:l ﬁa% SR, Cugy + 248" (o > Culy + 243, P TH TON ST S
HHAT T 7

(1) Cu|Cu®*||Ag"| Ag (2) Cu|Cu?*||2Ag"|2Ag
3 Agl|Ag*| |Cu|Cu (&) Cu|Cu®*| |(Ag")Y[(Ag)

A solution of aqueous CuSO, was electrolyzed for 160 minutes using a current
of 0.56 ampere. The mass of copper deposited at cathode is 1.824 g. The electro
chemical equivalent (z) of Cu is 1

CuSO, & e e a1 056 TReR Rga-umT gR1 160 fFe % fga-sdeed
forar | 1.824 T <feT delie W Yo gAY Cu &1 -\ e §

(1) 0.03392 (2) 0.003392 (3) 0.0003392 (4) 0.00003392

What is the total number of atoms per unit cell in a body centred cubic (bec)
space lattice ?

TF A Diwd TR (o) B3R Sram & w=ewr # ol (e 99 3 AR @t
T H&T FT BN T 7

(1) 4 @ 3 (3) 2 (41
(22)



93.

94.

95.

96.

97.

MSEB/102/19 (Set - I)

The electronic configuration of Iron in K [Fe{CN)¢] compound is :

K, [Fe(CN)] 3ifra & &g &7 Feiagia 3= 2
(1) [Ar] 34° 4¢° (2) [Ar]3d 4s! (3) [Ar]3d°4s° (4) [Ar] 34

Which of the following reactions is an example of zero order reaction ?
e el % 9 999 g 1) ofafe &1 1@ SgevT 7 7
(1) 2H202(aq) _—'—'__)ZH2OU] +02(8)

(2) CH3COOC2H5(I) + HZO(I) LIU))CH3COOH(I) + C2H5OHU}

Pt—Surface
(3) 2NH3(8) 5 Nz(g} +3H2(8)

The different fractions of petroleum like Petrol, Diesel, Kerosene etc. are
separated in oil refineries by the method of :

(1) Sublimation (2) Chromatography
(3) Fractional distillation (4) Steam-distillation

U IVANIR ¥ B A @ ffaT srawdl 99 ugid, o, et & da ol =
fafyr g vere by o & -

(1) AU (2) ToiorEA
(3) THTel ATEaT (4) W9 AgaT

Which of the following ions is isoelectronic with AP* ?

o o § 9 B9 AP @7 THgeasiae & 7

(1) Mg* (2) Ca** (3) Cr @Li*
Ethyl alcohol and Dimethyl ether are .............. of each other.

(1) Isotopes (2) Allotropes

(3) Isotones (4) Isomers

(1) gaeents (2) oy

(3) TR~ggife CIRLIERE

(23) P.T.O.
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98. The type of iron which contains least percentage of carbon, is

(1) Castiron (2) Wrought iron
(3) Steel (4) Pigiron

IH FH JRIST FEA T8 G AR B PR 2 -

(1) Torar wren (2) faean <ra

(3) T (4) f aer

89. 'Plaster of Paris' is:
ReR 3T W R
(1) CaSO, (2) CaSOy.2H,O
(3) (CaS0y),.H,0 (4) CaCO,

100. The non- metal used to prepare 'Bleaching Powder" is :

(1) Calcium (2) Chlorine
(3) Hydrogen (4} Nitrogen
I 3png o faRes ol S F ganT g 2, 98 2
(1) dforaw (2) T
(3) sTERIoT (4) TrEESE

(24)



safdfat & fag e

(&9 JRaTT B YoM SRVEYS TR T SAUA & A JOI W Baa Ao/ Frel! Tor@rge 97 A B )

1.

2.

3.

4,

10.

1.

12.
13.
14.

ue gRa®t e @ 10 e @ o & @ o & aeua § Wi 7w AN 2 ok e
v gel T8 8| gRawr Augew Ul W W g9 gul ae ey Fes B 3w
TR 9egs 1 gE GRS ara # o |

wdien waq ¥ forereT WRa ez @ sl foaan @ A 7% R ge s Wy A
T )

SRS AT § R vy &) g 7 9 W S 7 @ Rya 1 guw sovuT TE
R s 1 Paor ovR.TF 27 8 oo [y wrde)

AT FYHHT TYT BUYT BT BAF FIT FEVRW 99 ¥ iR v w
fored |

. FUCTT @ FIT §6 G¢ 47 @ 9 sgmme eiRa wenT av ford e et R4 gar

! MET T 3/ WEI-WE AYAT & 8T HEL.GRGHT T HHF TAT GT BT TRV
ofaa wr oY ol 1

. 3o THo Ro A R IFHAIG WAL, U¥- W& T =T = (i B8 8Y) qw

T-gRaET IR ATEAIE W 3R Sllo To IRo U3 WX F oy oAl A IuReaad &l
Fgafa 78 3

. S9ga sfaftedl # o' N wRexi Far e grr wif-— 7= Wi s 98 &

AT T TR /A S |

. TYRaET ¥ 7S 7 B 9R Isfous oo A M ¥ AT 57T @ dofeve gov @

ford smuat Sov-gF # wAfya gy @ w3 T 79 B ITV-0F B AgT O W
R mi At & w7 @ e WY #

. TF UE B IR B [0 DI B & I B Ml FR - JF T FT® gail Dl MG A

U 3] UF FI B AYC WA W IE OTR A A S

ey & & vo o) wrEt g S sov agon TE o FFer &1 IR o &R wem
o1 Fov 7E# 7 wed € o wRta i @ wee &R T I B @il o
T T R i Ry IR

W I B RR W IRoe 3 JaUS B IR T g% T T TRl IS & 5an
|

T @ SN BT Mo THo JRe TIVTF 81 T = # 7= w3

T FErE B |/ 9o Iden 999 @ IR o @ R oF

Iy P st ofen F g ARl B TR FRan 8, o TF vrToew gw Puia
g3 H1 /% woft g /el
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